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In[74] =

In{sg] =

Cul[gs]=

Tn=1;

xNorml

l1-Cos[2xPixt/Tn];
xNorm2 = Cos[2 *Pi % (E-P) /Tn] -Cos[2+xPixt /Tn];
xNorm = Piecewise[{{xNorml, t < P}, {xNorm2, t > P}}]

l1-Cos[2rmt] t<P
[—Cos[2ﬂt]+Cos[2ﬁ(—P+t)] t>P
0 True

Casel =xNorm /. P - 0.1;
Plot[Casel, {t, 0, 10}, AxesLabel - {"t", "xNorm"}]

xNorrm

061
0.4

0.2

j= Case2 =xNorm /. P> 0.25;

Plot[Case2, (t, 0, 10}, AxesLabel » {"t", "xNorm"}]
xNorm
1.5}

1.0}
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ngs)= Case3 =xNorm /. P> 0.5;
Plot[Case3, {t, 0, 10}, AxesLabel » {"t", "xNorm"}]

out[ai]=

In[e8]:=

In[108] =

oul[108]=

xNorm

2L

-2F

Case4 = xNorm /. P 0,75;
Plot[Cased, {t, 0, 10}, AxesLabel -» {"t", "xNorm"}]

xNorm

201

1.5

1.0}

Case5 =xNorm /. P .9;
Plot[Case5, {t, 0, 10}, AxesLabel » {"t", "xNorm"}]
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in1321= Caseb =xNorm /. P> 1.5;
Plot[Case6, {t, 0, 10}, AxesLabel » {"t", "xNorm"}]
xNorm

25

ul[133)=
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Inis21= xXmaxnorml = 2;
xmaxnorm2 = Abs[2 * Sin[Pi x r]];

xXmax = Piecewise[{{xmaxnorml, r > 0.5}, {xmaxnorm2, r < 0.5}}]

2 r>0.5
Oul[164)= { 2Aabs(Sin[nr]] r<0.5
0 True

rpes)= Plot[xmax, {r, 0, 1.5}, PlotRange » {0, 2}, AxesLabel » {"T/Tn", "xMaxNorm"}]

xMaxNorm
20,
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nis11= TrigReduce[Cos[a-b] - Cos[a]]

cufiel= ~Cos[a] + Cos[a-b]



